LVQ.A-AS-SST-VD HIEE elesa TOHATSU

Emik - AHRR
6us)

d. <S5,
— b
I %} /|
- L Aa
— \T;/
= A A o
D
JREE 1242 k]
ME B ME |ME| BE
PA+I# | B | SUS304 | NBR | E§EKATO
% it D|d|L ||t |n|R|h|s |BERBBE AR

58 (o) | I (N)

L]

184181 | LVQ.A-60-14-AS-SST-M16x68-VD 60 |M16| 102 | 105| 68 | 34 |325| 24 | 12 14 14000 | 147

184183 |LVQ.A-60-14-AS-SST-M16x108-VD | 60 |M16| 142 | 145 | 108 | 34 |325| 24 | 12 14 14000 | 211

184185 |LVQ.A-60-14-AS-SST-M16x148-VD | 60 |M16| 182 | 185|148 | 34 [32.5]| 24 | 12 14 14000 | 275

184187 | LVQ.A-60-14-AS-SST-M16x168-VD | 60 | M16| 202 | 205 | 168 | 34 |32.5| 24 | 12 14 14000 | 307

184191 |LVQ.A-60-14-AS-SST-M20x110-VD | 60 |M20| 149 | 152 | 110 | 39 |36.5| 24 | 15 14 14000 | 311

184193 |LVQ.A-60-14-AS-SST-M20x150-VD | 60 |M20| 189 | 192 | 150 | 39 |36.5| 24 | 15 14 14000 | 411

184195 |LVQ.A-60-14-AS-SST-M20x170-VD | 60 |M20| 209 | 212 | 170 | 39 |36.5| 24 | 15 14 14000 | 461

184197 | LVQ.A-60-14-AS-SST-M20x210-VD | 60 | M20| 249|252 | 210 | 39 |36.5| 24 | 15 14 14000 | 560

184251 | LVQ.A-70-14-AS-SST-M16x68-VD 70 |M16| 97|100| 68 | 29 |275| 19 | 12 14 14000 | 146

184253 |LVQ.A-70-14-AS-SST-M16x108-VD | 70 |M16| 137 | 140 | 108 | 29 |27.5| 19 | 12 14 14000 | 210

184255 |LVQ.A-70-14-AS-SST-M16x148-VD | 70 |M16| 177 | 180 | 148 | 29 |27.5| 19 | 12 14 14000 | 274

184257 |LVQ.A-70-14-AS-SST-M16x168-VD | 70 |M16| 197 | 200 | 168 | 29 |27.5| 19 | 12 14 14000 | 306

184261 |LVQ.A-70-14-AS-SST-M20x110-VD | 70 |M20| 144 | 147 | 110 | 34 |315| 19 | 15 14 14000 | 310

184263 |LVQ.A-70-14-AS-SST-M20x150-VD | 70 |M20| 184 | 187 | 150 | 34 |31.5| 19 | 15 14 14000 | 410

184265 | LVQ.A-70-14-AS-SST-M20x170-VD | 70 |M20| 204 | 207 | 170 | 34 |31.5]| 19 | 15 14 14000 | 460

184267 |LVQ.A-70-14-AS-SST-M20x210-VD | 70 |M20| 244 | 247 | 210 | 34 |31.5| 19 | 15 14 14000 | 559

184271 |LVQ.A-70-14-AS-SST-M24x110-VD | 70 |M24 | 144 | 147 | 110 | 34 |315| 19 | 18 14 14000 | 417

184273 |LVQ.A-70-14-AS-SST-M24x170-VD | 70 |M24| 204 | 207 | 170 | 34 |315| 19 | 18 14 14000 | 632

184275 |LVQ.A-70-14-AS-SST-M24x210-VD | 70 |M24| 244 | 247 | 210 | 34 |31.5| 19 | 18 14 14000 | 776

184381 |LVQ.A-80-14-AS-SST-M16x68-VD 80 |M16| 102 | 105 | 68 | 34 |32.5| 24 | 12 14 16000 | 175

184383 | LVQ.A-80-14-AS-SST-M16x108-VD | 80 |M16| 142 | 145 | 108 | 34 |32.5| 24 | 12 14 16000 | 239

184385 |LVQ.A-80-14-AS-SST-M16x148-VD | 80 |M16| 182 | 185 | 148 | 34 |325| 24 | 12 14 16000 | 303

R N N e o o B o B e e e B e D I N A e R o o

184387 |LVQ.A-80-14-AS-SST-M16x168-VD | 80 |M16| 202 | 205 | 168 | 34 |32.5| 24 | 12 14 16000 | 335




LVQ.A-AS-SST-VD

)2

Emik - AHRR

clesa TOHATSU

| =B inaE| B2
S5k st pld|L|u|t|ule|ln|s %ﬁ? Ef%ff; Ef B
184391 |LVQ.A-80-14-AS-SST-M20x110-VD 80 |M20| 149 | 152 | 110 | 39 |36.5| 24 15 14 16000 339 AN
184393 |LVQ.A-80-14-AS-SST-M20x150-VD | 80 |M20| 189|192 | 150 | 39 [36.5| 24 | 15 14 16000 | 439 A
184395 | LVQ.A-80-14-AS-SST-M20x170-VD 80 [M20| 209|212 | 170 | 39 |36.5| 24 15 14 16000 489 AN
184397 | LVQ.A-80-14-AS-SST-M20x210-VD 80 [M20| 249|252 | 210| 39 |36.5| 24 15 14 16000 588 AN
184398 | LVQ.A-80-14-AS-SST-M24x110-VD 80 [M24 | 149 | 152 | 110 | 39 |36.5| 24 18 14 16000 446 A
184399 |LVQ.A-80-14-AS-SST-M24x170-VD | 80 |M24| 209|212 | 170 | 39 [36.5| 24 | 18 14 16000 661 A
184400 | LVQ.A-80-14-AS-SST-M24x210-VD 80 |M24| 249 | 252 | 210 | 39 |36.5| 24 18 14 16000 805 AN
184481 |LVQ.A-100-14-AS-SST-M16x68-VD | 100 | M16| 102 | 105 | 68 34 (325] 24 12 14 16000 233 AN
184483 |LVQ.A-100-14-AS-SST-M16x108-VD | 100 | M16 | 142 | 145 | 108 | 34 |32.5]| 24 12 14 16000 297 AN
184485 |LVQ.A-100-14-AS-SST-M16x148-VD | 100 | M16| 182 | 185 | 148 | 34 |32.5| 24 12 14 16000 361 AN
184487 |LVQ.A-100-14-AS-SST-M16x168-VD | 100 | M16 | 202 | 205 | 168 | 34 |32.5| 24 12 14 16000 393 AN
184491 |LVQ.A-100-14-AS-SST-M20x110-VD | 100 | M20 | 149 | 152 | 110 | 39 |36.5| 24 15 14 16000 397 AN
184493 |LVQ.A-100-14-AS-SST-M20x150-VD | 100 | M20 | 189 | 192 | 150 | 39 [36.5| 24 | 15 14 16000 | 497 A
184495 |LVQ.A-100-14-AS-SST-M20x170-VD | 100 | M20 | 209 | 212 | 170 | 39 |36.5| 24 15 14 16000 547 AN
184497 |LVQ.A-100-14-AS-SST-M20x210-VD | 100 | M20 | 249 | 252 | 210 | 39 |36.5| 24 | 15 14 16000 646 A
184498 |LVQ.A-100-14-AS-SST-M24x110-VD | 100 | M24 | 149 | 152 | 110 | 39 |36.5| 24 18 14 16000 504 AN
184499 | LVQ.A-100-14-AS-SST-M24x170-VD | 100 | M24 | 209 | 212 | 170 | 39 |36.5| 24 18 14 16000 719 A
184500 | LVQ.A-100-14-AS-SST-M24x210-VD | 100 | M24 | 249 | 252 | 210 | 39 |36.5| 24 18 14 16000 863 A
Ps. it SEHEETREHICIE]

- fERRE [ -30°C~100°C

sP. EE3S

- FARAL 5005 M85 PARUAY > 755 FDA #R#E(FDA CFR.21 #1 EU 10/2011) » &
RBRR@ITE  JERAARRRRSR  BIRES

- B ERNREERERNEELRE

mE=

- WIRBB L REARBRMAE » PJAERERRERR

- 7P IEBRCARPRIS o W (EEREE) IR E R

- RIERERIEE

FER BT

184181



